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caurses to be examined. Thest papers do not constiute ‘sdvice’ nor can they be consued as authoritative interpretations of Board of Snudies
intentions, The CSSA atcepis no liability for any reliance, vse or purpose related o these *Trial’' question papers. Advice on HSC examination issu2s is

anly 10 be obtained from the NSW Boand of Snadies.
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3 In which triangle below is sinx=3

(A)

©

4cm

®)
4 cm 3 em
18}
4 cm
3cm

4 Which of the following is an example of discrete data?

{A) the type of car that is in your garage

{B) the number of cars in your garage

(C) the distance travelled by the cars in a month

(D) the cost of petrol for the cars per month

5 Which of the following is not a right-angled triangle?

(A)
0.6m
036m
048 m
©
8m
4m
ém

B)
2m
f2m
l.em
o
10m 26m
24m

6 Expand and simplify: 7 -3(5x+2}

(A) 1-15¢
B 9-15x
(Cy 20x+2

(D) 20¢+8

Nathalie works a 38 hour week. She is paid an hourly rate of $19.90. Wher'she takes her four
weeks annual leave she is paid a holiday loading of 174 %. Nathalie’s weekly income when
she takes her holiday leave will be:

(A) $132.34
(B) $756.20
(C) $888.54
(D) $3554.14

8 In a HSC Mathematics assessment task, the mean was 64 with a standard deviation of 8. A

student recorded a z-score of 1.5 in the assessment task. The student's mark was:
(A) 48

(B) 72

€y 7135

Dy 76

Brandon has a credit card with a simple interest rate of 0.04% per day and no interest free
peried. He makes 2 purchase of $280. After 23 days, the total amount payable, including
interest, is: ’

(A) 3258

(B) $257.60

(Cy $280.01

(D) $282.58




10

11

12

Given that > =1 + 2as, then the value of v when 1= 3.2 x [0, =28 200 5= L7 X U 18
closest to:

(A) 19x 10 :
B) 3.7x 10* '
(Cy 3.7x10°

) 14x10

SJIOGU Credit Union has the following monthly loan repayment table for each $1000
borrowed.

Monthly Repayment on a Loan of $1000

Interest Period of Loan
Rate
(% p.a) 6 years 8 years 10years | 12years
7 $17.05 $13.63 $11.61 $10.28
8 $17.53 §14.14 $12.13 $10.82
9 518.03 $14.65 $12.67 $11.38
10 §18.53 $15.17 $i3.22 $1195

Brittany wants to botrow $165 000 to buy a unit in Culburra. She will repay the lean over a
period of 10 years at an inferest rate of 8% p.a. Using the loan repayment table above,
Brittany’s monthly repayment will be:

(A) $12.13

(B) $15.17

(C) $2001.45

(D) $2503.05

The city of Rawalpindi has position co-ordinates of (33°N,73°E). The town of Zioge is

2 hours ahead of Rawalpindi. The position co-crdinates of Zioge are:

(AY (3°N,73°E}

(B) (33°N43°E}

{C) (33°N,I103°E)

D) (63°N,73°E})

13

14

15

The intensity (7) of light at a certain point varies inversely as the square of the distance (4 of
that point from the source of the light. The equation to show this relationship is:

-k

k
®) = 7

(€) I=id

©) P=td .

In a class test, one student scored 16% and the remainder of the class scored above 50%. The
measure which is most affected by the outlying score is:

(A) mode

(B) median

(C} interquartile range

(D) standard deviation

75m

42° 16°
cC 5 A

The formula which would be most useful in calculating the length of the side BT in the
diagram above is:

(&) =a*+F
(B) A=1absinC

a b ¢
C —==—=== 5
sind sinB  sinC

(0 cl=a*+b*-2abcosC




16 There are 7 people on standby for a flight to Byron Bay. An hour before departure, 4 seats
become available. The pumber of ways in which 4 people can be chosen to fill the seats is:

17

18

(a) 14
®) 28
(C) 35
(D) 840

In the formula s=ut +Lat®, the value of & is given by:
2

2s--ut)
tI

{A) a=

_‘2(3-;4)
® a=22

! s—ut
) a=——
© 24

ge Af2(s - uf)

®) ;

$3040 is invested at the end of every 6 months for @ years at 3% p.a. with inferest
compounded half-yearly. Which of the following expressions wiit give the future value of the

investment after 9 years?

A) 3040[&"'_@1&]

0.03

(1+0.015)" - 1}

® 3040[ 0.015

© 3040[ (1+0.03) -1 ]
0.031+0.03f

1+0.015% -1

3040
@) 0.015(1+0.015)"

]

Tvweo sets of data, P and (2, are normally distributed. The mean of set Q is twice the mean of
set P. The standard deviation of set Q is half the standard deviation of set P. The diagram
which beét represents this information is: '

(A)
Frequency _
g - .
P
Score
®)
Frequenc
q Y P
g
Score
©
Frequency
P
Q
Score
)
Frequency

VAN

Score




U

20

21

Jasmine wishes {o take a holiday in 2 years from now and needs 10 have $3950 saved. She can
make monthly contributions into an account which earns interest af 0.8% per month. The
amount of her monthly contribution is:

(A) $6320

(BY $149.94

(C) $181.54

(D) $1967.13 -

The marks from an examination are normally distributed with a mean of 55 a;}d a standard
deviation of 9. The percentage of students who scored a mark between 46 and 73 is:

(A) 47.5%
®) 68%
(C) 81.5%

) 95%

22 A box of chocolates contains milk, white and dark chocolates, The probability of choosing 2

i i i ili i i e. The probability of
2;11(1:: sci};;c: 1;‘1;:2 ;EI::OEI::; stt}i:"’ icpﬁib;?g::;iﬁ?ﬁ%g&gxz fi}:r’;?::l;:)colate%\’hi ch ottythe
following combinations could give the number of each type of chocolate in the box?

(A) 4milk, 12 white and 24 dark
(B} 18 milk, 6 white and 2 dark
(C) 24 milk, 4 white and 8 dark

(D) 24 milk, 8 white and 4 dark

ALY

Section 11

78 marks )
Attempt Questions 23-28

Allow about 2 honrs for this section

Answer each question in a SEPARATE writing booklet. Extra writing booklets are available.

All necessary working should be shown in every question.

Question 23 (13 x—narks) Use a SEPARATE writing booklet. - Marks

(a) Simplify each of the following expressions:

(@) Smn—2m—4nm—-6m 1
o @  Sab
® % 2

(b) A debating team consists of a first, second and third speaker. Tom, Liam and George
are the Year 12 debating feam for their school.

(i) Inhow many different ways can they fill the three speaker positions? 1
(if) 'What is the probability that George will be the first speaker for his team? 1
(iii) What is the probability that, in team order, Liam will not directly follow George? 1

(¢) Betty and Garry want to purchase a new entertainment system. The price of the unit
is $8999. They decide on the following finance option:

* Deposit of $999
» Tnterest on balance charged at a flat rate 12.5% p.a. for 3 years
They will repay the loan with equal monthly instalments over the 3 years.

(i) Calculate the amount of inferest charged on the [oan. 1
(ii) Calculate the monthly repayment they will need to make. 1
(iif) Calculate the total amount paid for the unit, 1

Question 23 continues on Page 11

10




D Qﬁe;tion 23 (continued)

(d) TIn January 2004, the Coco Dog Food Company purchased a new packaging machine
which cost $36 500. After 3 years the salvage value of the machine was $12 500.

() Ifthe straight line method is used, find the annual 2mount of depreciation.

(i) If the declining balance methed is'uséd, find the annual depreciation rate, correct
{0 1 decimal place.

(iif) The company decides to sell the machine after 4 years, Which method of
depreciation would you suggest the company use in order to gain the greatest
tax benefit? Support your answer with mathematical calculations. -7

Fnd of Question 23

11

Marks
@

1

1
, ®)

©

“Question 24 (13 marks) Use a SEPARATE writing booklet.

Marks

A farmer decides to use the capture-recapture method to estimate the present population 2
of fish in his dam. He captures 15 fish, tags them and releases them back into the dam.
Sometime later he nets 30 fish, of which 2 are tagged. What is his estimate of the current

fish population?

Taren has a gross annual income of $34 600. He has allowable deductions of $3420. He
must pay tax on all taxable income, His employer has deducted $5965 in PAYG tax
throughout the year.

.

(i} Show that Taren’s taxable income is $31 180. B 1
(i) Using the tax table below, calculate the income tax that Taren must pay. 1
Taxable Income Tax Payable on Taxable Income
$0 - $6000 Nil
$6001 — $25000 15¢ for each $1 over $6000
$25001 - $75000 $2850 plus 30¢ for each $1 over $25000
$75001 — $150000 $17850 plus 40¢ for each 81 over $75000
Over $150000 $47850 plug 45¢ for each §1 over $150000
(iii) Will Taren receive a refund or will he need to pay an additional amount in tax? 2
What is the amount of his refund or tax bill?
A large office employs 6 executives, 30 secretaries, 20 clerks and 9 anciltary staff.
The management of the office wishes to survey 15 staff members. They want a
proportional representation of staff from each of these groups to be surveyed.
i) What is the name givet to this type of sampling? 1
(i) How many secretaries should be surveyed? 1

Question 24 continues on Page 13

12
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" Question 24 (continued) Marks

(d) A water tank is to be made of insulated sheet metal. The tank is in the shaps‘ of a closed
cylinder with a diameter of 2.8 metres and a height of 1.3 metres, as shown in the

diagram below.
1.3.m
28m I
(i} TFindthe ‘volume of this water tank. Give your answer correct to the nearest cubic 2
metre.
(ii) Find the capacity, in litres, of the tank. 1

(iif} Find the area of sheet metal required to construct the tank. Give your answer correct 2
to the nearest square metre.

End of Question 24

()

&)

(©}

(d)

(e

Solve the equation; +1-9x =26 2
A 200 g can of insect spray contains 0.14 g of Bioresmethrin. Find the concentration, 2

in grams per kilogram (g/kg), of Bioresmethrin.

Which of the following investment options would you ¢hoose to obtain the greatest 2
return for your investment?

Option I: 36000 invested at 8% p.a. simple interest over 2 years
Option I $6000 invested at 7.5% p.a., compounded monthly, over 2 years
Support your answer with mathematical calculations.

N

N |

105 m

7%m 67m Mm

NN

3 e
60 m 60m 60 m 0m

The diagram above shows the aerial view of a dam, with some dimensions also given,
(i) Using two applications of Simpson’s Rule, find the surface area of the dam, 2

(ii) The dam, when full, has an average depth of 28 metres. Find an approximation 1
for the volume of the dam.

(iii} Due to the harsh drought conditions, the dam is only at 15% capacity. What pA
amount of water is currentiy stored in the dam?

Julie and David will invest in an account to aliow for the expenses of their son Jack’s 2
university degree. They estimate he will need $1200 per month for the duration of his

four year degree. Their credit union offers an account which pays 8.4% p.a., compounded
monthly. Find the amount of money that Julie and David will need to invest at the start

of the four year period to allow for this expense. )

End of Question 25
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Quastion 26 (13 marks) Use a SEPARATE writing bookiet. INLATHS

(z) Alongahighway there are two sections of roadworks under construction. These two
sections are controlled by red and green traffic lights. Anne has calculated that there is
a 90% chance that the first set of lights are green and that there {5 2 70% chance
that the second set of lights are green.

i) Copy the probability tree below into your writing booklet, Complete the probability 2
tree by writing the correct probability on each branch.

Red
Red < _
Green -
Red
Green <
Green
(i} Calculate the probability that Amne will have a clear run (i.e. that both lights are 1
green).
(iif) Calculate the probability that Anne will have to sfop at [east once. 2
(b} Sam is making up a spinner for a game, as shown in the diagram below. 2

Lose
56

Lose
$i2

Sam wants the financial expectation of the game to be 50¢ and has one section of
the spinner to complete. What should be written in the last section of the spinner?

Question 26 continues on Page 16

* QL.lestion 26 (continued) Marks

fc) An electronics shop sells two brands of DVDs, Repro and Dupe. Both brands sell for the
same price. The shop decides to discontinue one of the brands. The shop records the sales
of cach brands in the 10 week period before one of the brands is discontinued. The sales
are shown in the table below:

Repro 13 | 25 14 055 | 32|13 | 4 | 261341 2R
Dupe 21 26 L 18 | 26 | 31 | 34 | 33 | 19 | 40 | 33

(i) Displaythis information in ap ordered hack-to-back stem-and-leaf plot. . 2
(i) Copy and complete the table below. 2
Mean Median Standard
Deviation
Repro 27
Dupe 6.9
(iif) Which brand should be discontinued? Give reasons for your answer. Which 2

" statistical measure best supports your argument.

End of Question 26

16
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" Question 27 (13 marks) Use a SEPARATE writing booklet. Marks .. Queéstion 27 (continued) Marks
“ (c) The following table gives the future value of an investrment of $1 per month in an

(2} An insurance firm offered share packages to its shareholders. No brokerage fees or
ordinary annuity at different interest rates and different periods ef time.

stamp duty were charged. Shares were offered according to the following schedule.

Number of shares - Cost of shares Future Value of an Ordinary Annuity with an Investment of $1 per month
() ©
272 $1496.00 Number of Int(en;:;t :Q)ate
545 $2997.5¢ Months A -
i 727 $3998.50 12% 13% 14% 15% 16%
909 $4999.50 . : -6 6.1520 | 6.164% 6.1717 6.1907 6.2034
G Tho cost (C) of purchasing sh. - it with the number of shares (1) R 12 12.6825 | 12.7415 | 12.8007 | 12.8604 | 12.9203
i e cOs of purchasing shares varies directly with the number of shares {»
purchased. Find an equation in the form € = ka that relates n to C. 18 19.6147 | 19.7573 | 199011 | 20.0462 | 20.1926
24 26,9735 | 27.2417 | 27.5132 | 27.7881 | 28.0664
(i) Explain the significance of k, the constant of proportionality, in your equation in 1
part (i). (i) Find the value of an investment of $550 per month after 2 years at 14% p.a. 1
(i1} How much would it cost to purchase 800 shares under this plan? 1 (i) Find the total interest camed on the investment. 1
(i) The total amount invested over 2 years is $13 200. I this amount is invested asa 2

lump sum for 2 years, find the equivalent flat rate of interest which would give the

®) The box-and-whisker plots below show the statistics of the results of Mr Pik's class and
same return. Give your answer as a percentage correct to | decimal place.

Mrs Chuz' class in a mathematics test.

Mr Pik's |
Class [

Mrs Chuz' ;. End of Question 27
Class

(i) Caleulate the interquartile range of Mr Pik's class. i

(i} What percentage of students in Mrs Chuz' class scored marks between 70 and 80 1
in each class?

(ifi) Compare and contrast the two data sets by examining the shape and skewness of the 3
distribution and the measures of location and spread.

Question 27 continues on Page 18




. Qhestion 28 (13 marks) Use 8 SEFAKALE Willlig wounsce =

(a) A council surveyor recorded the number of pedestrian crossings in eight suburbs. The
number of accidents involving pedestrians in those suburbs was also recorded. The
results are shown in the table below.

Number of crossings (W) g 111211335 | 8j10]14
Number of accidents (4) wle | 5|2 |12]8] 71

(i} Using a large, neat graph, display this dataon a scatterplot with the number of 2.
¢crossings (V) on the horizontal axis and the number of accidents (4} on the
vertical axis. .
(i) What is the type of correlation that exists between the two variables N and 47 1
(iii) Comment on the relationship between the two variables. 1

(b) A class is on a treasure hunt as part of their Sports, Lifestyle & Recreation course,
They are given the following directions from base camp A. They are to walk on a bearing
of 072° for 300 mefres fo point B. They are then to continue on a bearing of 156° for
400 metres to point C. They then retum to base camp A.

(i) Show that LABC=96° 1

{iiy Calculate AC, the distance that the class needs fo travel on the finat leg of their 2

journey. Give your answer corect {0 the nearest metre.

(iif) Find the bearing that the class needs to take from point C to return to base camp 4. 2

Question 28 continues on Page 20

19

Question 28 (confinued) . : Marks

(¢} Inaschool experiment, & projectile was thrown from the top of a cliff. The height of
the projectile above sea level was recorded at 1 second intervals. ‘The results are shown

in the graph below.
Height of Projectile above Sea Level
80 -
% T

-~ AN

30 N\
20 N
10 N

0
0 ! 2 3 4 5
Time (s}
(i) What was the height of the cliff? 1
(i) According to the graph above, what was the maximum height reached by the 1
projectile?

The height of the projectile above sea tevel can be modetled by the formmia:
h=40+17t-5¢

where £is the time (in seconds) since the projectile was thrown and f is the height of the

projectile (in metres) above sea level.

(iif) Use this formula to estimate the height of the projectile after 2.5 seconds. 1
Give your answer correct to fhe nearest metre.
(iv) Explain why this modet is unreliable for values of # which are greater than 5. 1
§
END OF EXAMINATION
EXAMINERS
Bill Waddell {Couvenor) St Patrick’s Marist College, Dundas
Patrick Curteis Kambata, Rose Bay
Neila Darrough Bethany College, Hurstville
Sue Hamilton St Vincent’s College, Potts Point
Julie MacDougal Rosebank College, Five Dock
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) Centre Number Student Number

CATHOLIC SECONDARY SCHOOLS ASSOCIATION OF NEW SOUTH WALES
YEAR 12 TRIAL HIGHER SCHOOL CERTIFICATE EXAMINATION 2007

GENERAL MATHEMATICS - MULTIPLE CHOICE ANSWER SHEET

Select the alternative A, B, C, or D that best answers the question. Fill in the response oval completely.
Sample 2+4= (A)2 B)6 )8 o)y9
A Y cO DO ~

If you think you have made a mistake, put a cross throngh the incorrect answer and fill in the new answer.

I J B cO DO

If you have changed your mind and have crossed out what you consider to be the correct answer, then

indicate this by writing the word correct and drawing an arrow as follows:
correct

AN B!‘/ cO DO

ATTEMPT ALL QUESTIONS

Question 1 A O 5O c© p O
2 A O O cO p O
3 A O O cO p O
4 A O rOO cO pO
5 a o BO cO DO
6 A O BO cO pO
7 A O B cO b O
8 A O B O cO pO
9 A O BO cO O
10 AO B cO . pO
1t A O BO cO | p O

12 A O A cO p
13 A O BO cO DO
14 A O 5O cO p O

Continue over page

3001-3

15

16

17

18

19

20

21

22

A O

A O
A O
A O
A O
A O
A O

RO

B
B OO
B O
B O
5O
BO

cO

cO
cO
cO
cO
cO
cO



General Mathematics
FORMULAE SHEET
Area of an annuins Surface area
A= 7.:(1‘2‘2 —rz) Sphere A = amr?
) ‘ } .,
R = radius of outer circle Closed cylinder A = 2mii+ 21r

r radius of inner circle

B

Aree: of an ellipse

A = gab
a = length of semi-major axis
b = length of semi-rainor axis

Area of a sector

_9
A= 3 mﬁr
8 = number of degrees in central angle
Are length of a circle

8

= 2
! 65 2™
8 = pumber of degrees in central angle

Simpson’s rule for 4réa approximation

A= %(dfﬂd.mwf)

k= distance between successive
measuréments
df = first measnrement

d,= middle measurement

dy = last measurement

radius
perpendicular height

i

¥

h

il

Yolume

Cone V= é—n‘rlk

Cylinder V=mrtk
Pyraimid V:%Ak

Sphere V= ﬁrr
] 3
r = radius
k = perpendicular height
A = areaof base

[

i

Sine rule

Area of a triangle

A= %absinc

Cosine rule
& =a? + 5 —2abcosC
or

P

cosC
2ab

3001-4

Q. U’U&‘

FORMULAE SHEET

Simple interest

I = Prn

P = initial quantity

y "= percentage interest rate per period,
expressed as a decimal

# = number of pericds

Compound interest

A= Pi+r)

A = final balance

P = initial quantity

n = number of compounding periods

r = percentage interest rate per compounding

period, expressed as a decimal

TFuture value {4) of an annuity

(1+ry -1
ey

M = contribution per period,
paid st the end of the period

Present value (¥} of an annuity

_ (1+r)* -1
N= M{ r{l+r)" }
or

A
N=
{i+#)

Straight-line formula for depreciation
§ =¥-Dn

§ = salvage value of asset after # periods
¥, = purchase price of the asset

D = amount of depreciation apportioned
per period
n = number of periods

Declining balance formula for depreciation

5 = K-

§ = salvage value of asset after » periods

r = percentage interest rate per period,
expressed as a decimal

Mean of a sample

P

P

=1

¥ = mean

x = individual score
n = number of scores
F = frequency

Formula for a z-score

x—X
B

& = standard deviation

Gradient of & straight line

__vertical change in position
horizonta! change in position

Gradient-Intercept form of a straight line

y = mx+th

m = gradient

b = y-intercept
Probability of an event

The probability of an event whete outcomes
are equally likely Is given by:

number of favourable onicomes

event) =
A ) total aumber of outcomes




CATHOLIC SECONDARY SCHOOLS ASSOCIATION
2007 TREAL HIGHER SCHOOL CERTIFICATE EXAMINATION
GENERAL MATHEMATICS - MARKING GUIDELINES/SOLUTIONS

Section 1 . ,
Question 1 — Question 20 (1 mark each)
Question Answer Syllabus Assessed Targcte%la’ﬁal;ormance
| A P2, P6 23
2 B P2, P4, P11 2.3
3 D P2, P6 23
4 B P9, P11 o34
5 c P2, P6 3-4
5 A P2,P3 34
7 C P2, P7 34
8 D i H2, Hd, H9 34
9 D H2 o 3.4
10 B H2, H7 3-4
i C H2, HS T 34
12 C H1, H2, H7 ' 3-4
13 A H3, H5, Hil 4.5
14 b Hi, H2, H4, H5, 19 4.5
15 c H6, H7 4-5
16 C H2,H3, HI0 4-5
17 A H2, HII 4-5
18 B H1, H2, H8 4-5
19 A P2, P4 . 4-5
20 B H2, H5 4.5
21 cC H2, H4; HS, H 5-6
22 D H4, HIO, HIL 5-6
PSCLANMER

Tra infrmation cortaned in s dosuterd is narded b tha professial asssianca of kzzching sl R dozs rol consTade advics b shderts Furer s rot B2 tsafon of
CSSA fn prinide spacfic mading ouionss for all possiia ol HSC angers Rater ta prposs s b prowids 2efFars wih infarmaion 5o fhal fey an beter eapiere, understand
aced appy HSL madkirg recuirements, a5 estabishedt by € KW Board of Sudes

Ko quaraiee or wvanly s made of imgpled wih respaa o a2 appioetion or us2 of C58A Marhing Guidelinss nveaim i sy speci it exa quesion or enswar. The CSSA
assuras 1o Lty OF respans YRy for i acouraty, covgisiensss of usehinsss of armg Marking Guietoes provded for e Tid HSC pspsrs

1
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Seetion 2

Question 23 (13 marks)

Outconmes assessed: H2, H11
Targeted Performance Bands: 2-3

Solution Criteria Mark
(a)(i) Sman — 2m — dnm — Gin 1 mark for comrect 1
= — 8m answer.
Outcomes assessed: H2, HIT .
Targeted Performance Bands: 4-5
Solution Criteria Marks
{a)(it) & S5ab 4 6 2 marks for correct
TR by sty answer.
3 3
3b 6 3b1 Sab 1 mark for either
L 26 correct cancellation or 2
W sab correct multiplication
2a by reciprocal.
TS
Outcomes assessed: PI, PIf
Targeted Performance Bands: 3-4
. Solution Criteria " Mark
(b)) 3x2x1=6 orlist 1 mark for correct
Tom, Liam, deorge - answer,
Tom, George, Liam
Liam, George, Tom ¥ 1
Liam, Tom, George
George, Liam, Tom
George, Tom, Liam
Onicomes assessed: P1, P10
Targeted Performance Bands: 2-3
Solufion Criteria Mark
B i 1 mark for correct |
3 answer.
2
DiSCLAMER
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Outcomes assessed: P1, P10
Targeted Performance Bands: 3-4 .
" Solutien Criteria Mark

{b)(iin) 2 1 mark for correct :
El answer.

Outcomes assessed: HI, H2, HS
Targeted Performance Bands: 2-3

Solution Criteria _ - Mark
(£)() I=Prn 1 mark for comrect
= 8000%0.125x3 answer. 1
= 3000

Outcomes assessed: HI, H2, H5
Targeted Performance Bands: 3-4

) Solution Criteria Mark
(e)(iD) _ 8000+3000 _ . 1 mark for correct
Re payment = 3 $305.56 AnSwer. 1
Outcomes assessed: H1, H2, H5 - . .
Targeted Performance Bands: 3-4
Solution Critefia Mark
()i} Total =999 +11000 = $1199% 1 mark for correct !
answer.

Outcomes assessed: IS
Targeted Performance Bands: 2-3

Solution . Criteria Mark
(i) §=V,-Dn 1 mark for comect
12500 = 36500 Dx3 answer. I
D =38000
3
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Qutcontes assessed: H2
Tuargeted Performance Bands: 3-4

Solution Criteria Mark
(d)(ii) S=V,(1-r" 1 mark for correct
12500 = 365000 — ¥ answer. ,
r=0300
=30.0%
Ouifcomes assessed: H8, H11 ' -7
Targeted Performance Bands: 5-6
* Solution Criteria Marks

(d)(iiy | Straight Line:

S = 36500 - (4 x 8000)
=$4500 oo
Declining Balance:

§ =36500(1=0.3)
=$8745.45

thereforg the tax deduction.

Siraight Line Depreciation should be used
because it produices the greater depreciation and

2 wmarks for working
and justification for
answer.
1 mark for significant
progress fowards the
answer.
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Question 24 (13 marks) ) Outcomes assessed: P2, P6

Onteones assessed: P1, P11 . o Targeted Perforntance Bands: 3-4
Tuargeted Performance Bands: 3-4 - Solution " Criteria Marks
Solution Criteria Marks Gy 0)] ¥ =m’h 2 marks for correct
() 15 _ 2 2 marks for correct = rxl.42x1.3 . answer, : ;
P 10 answer. g 1 mark for progress
P =225 {1 mark for any 2 =om tOWﬂde answer,
progress towards
. - aANSWer. Outcomes assessed: P2, Pe
~ Targeted Performuice Bauds: 2-3 ' -
Outcomes assessed: P2, P7 Solution Criteria Mark
Targeted Performance Bands: 2-3 (d)(ii) C=8x1000=80007itres i 1 mark for correct
Solution Criteria  Mark answer 1
B $34600 - $3420=831180 1 mark for correct ,
answer. Oulcomes assessed: HI, H2, H3, H6, H7
Turgeted Performance Bands: 2-3
Outcontes assessed: P2, P7 Solution Criteria Marks
Targeted Performance Bands: 3-4 @G | s4=2mh+2m 3 marks forcomect |
) Solution ) Criteria Mark = (2% x14x1.3)+(2x 7x1.4?) answer.
(b)(ii) 2850+ (0.3% 6180) =$4704 1 mark for correct 1 2375 1 mark for progress 2
. answetr. =2a.dom towards answer,
=24m*-
Outcontes assessed: P2, P7 . . o
Targeted Performance Bands: 4-5 . -
Solution ’ Criteria Marks .
(b)(iii) $5965 - $4704 = §1261 1 mark for comect
A refund amouni. 3
1 mark for indicating
‘refund’.

Outcomes assessed: P1, P11
Targeted Performance Bands: 2-3
Solution Criteria Mark

()i Stratified sampling 1 mark for correct 1
’ aANSWET.

Ontcomes assessed: P1, P11
Targeted Performance Bands: 3-4

Solution Criteria Mark
(e)(if) 30 %15 = 7 secretaries 1 mark for correct 1
65 answer.
5 6
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Question 25 (13 marks}
Outcomes assessed: H2, H3, HI1
Targeted Performance Bands: 4-5

Marks

Solution Criteria
(a) AN1=9x =26 2 marks for correct
solution
1-9x =676 1 mark for correctly
—9x =675 squaring both sides of
x=-75 the equation or for 2
correct progress _ -
following incorrect
squaring of both sides
of the equation
Outcomes assessed: P2, P7 '
Targeted Performance Bands: 3-4
Solution Criteria Marks
)] 014 x 2 marks for correct
200 1000 answer.
x=07glks 1 mark for working 2
towards a correct
ANSWer.
Onutcoimes assessed: P2, P11
Targeted Performance Bands: 4-5
Solution Criteria Marks
{c) I=Prn 2 marks for correct
— 6000x0.08x%2 caleulations and
=960 conclusion.
N 1 mark for significant
Ar=$6960 progress towards
A2=P(1+1)" ANSWEr, 2
_ 6000(1 + 2072y
12
=$6967.75
Ans.Option H by$7.75
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Outcontes assessed: Hl, H2, H3, H6, H7
Targeted Performance Bands: 3-4

Solution Criteria Marks
(D) _ 60 60 2 marks for correct
A= ?(IOS +4x79 TG‘I) +?(67 +4x7140) substitation into
< 16780m° equation and correct
answer. 2
1 mark for progress
towards answer.
Ontcomes assessed: HI, H2, H3, H6, H7 -
Targeted Performance Bands: 2-3
Solution Criteria Mark
(d)([D) | Volume=16780x28=469 840m’ 1 mark for correct
. answer !
Outeomes assessed: HI, H2, H3, H6, H7
Targefed Performance Bands: 3-4
Solution Criteria Marks
{d)(iii) 15 2 marks for correct
ﬁx469840 answer.
= TOAGT 1 mavk for progress 2
—TOAGTRL, . . towards answer.
Ountcomes assessed: H5 T
Targeted Performance Bands: 4-5
Solufion Criteria Marks
© a+ 0-034)43 1 2 marks for correct
answer
N=12000 — 12—
0.007(1.007)"
= §48,778.27
Graphics Calculator 2
N=48%
1%=8.4
PMT=1200
FV=0
PfY=12
3
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Qutcomes assessed: H2, H4, H10, H11
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Question 26 {13 marks) ) : Targeted Performance Bands: 5-6 i
Onutcomes assessed; H2, HI0, Hil Solution Criteria Marks
Targeted Performance Bands: 2-3 1) 2 marks for comect
Solution " Criteria Marks L (—6)+ 1, (-12) answer. ]
(Ao 12 marks for all ] 6 1 mark for working
pranches with comreet " ~1~x 4+ _l_x g+ l_x x+ _l_x 0 towards 1:01[:.5? .
. 03 .~ RED probabilities. 6 6 6 6 answer. Multipiying
i some of the values by
0.1 RED 1 mark for at least-ofie =0.5 . ‘. i
/ 04 ™~ GREEN set of branches 2 11 ik using -
< correctly fitled in. X _t-2 +“§+ 15 -l-.gx —05 expecations. 9
. RED
0.9\\ y . —l+lx:0.5
GREEN “~—__ 6
07 T GREEN Lo is
x=0
The sector would have to read “Win $5”
Ountcomes assessed: H2, H10, HI1
Targeted Performance Bands: 3-4 Ounteontes assessed: HI, H2
' Solutidn ‘Criteria Mark Targeted Performance Bands: 3-4
(a)(iD) P(both green)= 0.9%0.7=0.63 . 1 mark for tomect i Solution Criteria Marks
angwer ()i} ‘Repro*  *© Dupe’ . 1 mark for correct
433(1;89 ‘Repro’
Outcomes assessed: H2, H10, HII1 8 g g % % g g 4 plot,
Targeted Performance Bands: 4-5 i l4lo 1 mark for correct 2
Solutien Criteria Marks 515 ‘Dupe’ plot.
(a)(iif) { Pf(at least one stop) = 1- P(no stops) 2 marks for correct
=1-0.63 answer. 5
=0.37 1 mark for progress
towards answer.
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Outcomtes assessed: P2, P4
Targeted Performance Bands: 3-4

Criteria

Solution Marks
(e)(Gi) 2 marks for correct
Mean | Median | Standard —| answers.
Deviation 1 mark for some 5
“Repro” | 28.1 |27 12.7 | correct answers,
“Dupe” 281 |285 6.9
Outcomes assessed: HI, H4, HS -
Targeted Performance Bands: 4-5
Selution Criteria Marks
{c) (i) | The store should discontinue ‘Repro’ because | 1 mark for correct .
while it has the same mean or average sales brand.
‘Pupe’ has a fower standard deviation which 1 mark for a correct 2
means it sells more consistently and so willbe | explanation.
probably easier to sell.
:
.
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Question 27 (13 marks)
Outcomes assessed: P3, P4, P§
Targeted Performance Bands: 4-5

Marks

Sclution Criteria
@) When n =272, C=1496. 2 marks for correct
oo 1496 =7k %272 equation.
272k = 1496 1 mark for calculation
k=55 of correct value of k or 2
-~ Equation is C=5.57 equation consistent
with incorrect _ -
calenlation of k.
OQutcomes assessed: P3, P4
Targeted Performance Bands: 4-3
‘ Solution Criteria Mark
{a)(ii) The value of 5.5 for | represents a cost of $5.50 | 1 mark for correct 1
per share. answer (Cost per share)
Outcomes assessed: P2, P3
-Targeted Performance Bands: 2-3
Solution Criteria Mark
(a)(iii) | Cost=35,5x% 800 1 mark for correct
= 54400 answer or correct
. calculation from 1
. ) incorrect equation in (i)
.| orequivalent.
Outcomes assessed: HI, H2, H4, H5, HY
Turgeied Performance Bands: 2-3
Solution Criteria Mark
(bXi) | 80-50=30 1 mark for correct .
answer.
Ontcomes assessed: HI, H2, H4, HS, HY
Targeted Performance Bands: 3-4
Solution Criteria Mark
(o)(ii) 50% 1 mark for correct 1

answer.

12

DESCLAMER

2o apply KRG rating reqiraments, 26 6elabished by the WOV Board of Suifies

The inforration rorsavad Tn s dovuent B rented ki Be professural assstance of k2athing Sta7 N goss ool surathuz aly

Aa o siderts Furder s mot Ba intendon of

L5654 1o provids spreic carking et b o posste Trof HEC enswers Ralher fi purpese s fo provirks dcans wih o tion 59 Bhad Ry a0 betier explieg, undarslarg

g quarses of wirrgnly is made o impied Wi respad o 2 appicalin o 152 of CSSA Marking Geirtelngs in relaion 10 2y specfc big! 2 quesfion of sisees T G584
asemes no B3y of tsponshity foe B ponraty, compclenass of vsshinsss of ary Mardng GutdeSes prawide dor tha TR HSC parers




&

Ontcomes assessed: Hi, H2, H4, HS, H?

Targeted Performance Bands: 5-6

Solution Criteria Marks
{b)(iii) | Shape & skewness: Mr. Pik-negative skew 3 marks for correct
Mrs, Chuz-symmetrical eomments on cach
Location: both have the same median value, aspect.
Spread: Mrs. Chuz’s is more consistent due to | 2 marks for significant
smaller IQR and range. correct comments, 3
Mr. Pik’s has a wider spread (greater IOR and |1 mark for some
range) of marks with 25% scoring equal to or relevant and correct ..
above Mrs.Cmz’s highest mark and 25% below | comment, -
his towest mark.
Outcomes assessed: H2, H§
Targeted Performance Bands: 3-4 ’
Solution Criteria Mark
(c)(@y 550%27.5132 = $15132.26 1 mark for correct i
answer.
Outcoines assessed: H2, H6
Targeted Performance Bands: 3-4
Solution Criteria Mark
(c)(ii) 15132.26— (24 % 550) = $1932.26 1 mark for correct .
. answer. *
Outcomes assessed: H1, H6 i
Targeted Performance Bands: 5-6
Solution Criteria Marks
()(iit) I=Prn 2 marks for correct
1932.26 = (24%550)xrx 2 answer. 2
F=73% 1 mark for progress
towards angwer.
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Question 28 (13 marks)
Ountcontes assessed: HI, H2, Hd, H5, HY9
Targeted Performance Bands: 3-4

Solution ' Criteria Marks
i - t
@) Crossings and Accidents 1 “.mrk for corvec
axés.
8 15 1-mark for correct dot
=1
1ot
% 10 * : plot
-9
g 54 A Y . . 2
LA . . te
o 5 10 15
Ho, of Crossings
Outcomes assessed: HI, H2, H4, HS, H9
Targeted Performance Bands: 3-4
Solution - Criteria Mark
(a)(iny Negative comrelation. 1 mark for correct i )
answer.
Outcomes assesseds HI, H2, H4, HS, HS
Targeted Performance Bands: 4-5 7
L Solution -+ Criteria Mark
{a){iii) The Number of accidents decreased as the | 1 mark for correct 1
crossings increased. ) * | answer.
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Outeomes assessed: HI, H2, H6, H7
Targeted Performance Bands: 2-3

*

QOutcomes assessed: H2, H3, HS

Sofution Criterta Mark Targeted Performance Bands: 3-4 ’ -
0] 1 mark for correct _ Solution Criteria Mark
answer. {c)(ii) Maximum height = 55 m ' 1 mark for correct |
answer
108° 156°
3 Ontcomes assessed: H3, H5
) o0 B Targeted Performance Bands: 3-4
. | ’ B Solution Criteria Mark
A (c)(iii} h=40+171-5¢ 1 mark for correct
=40+ 17(2.5) - 5Q.5% answer :
=51.25
C . =5lm
7
LABC= 3600_(1080_‘_1560) = gg° Outcomes assessed: H2, H3, H5, H11
Targeted Perfornance Bands: 5-6
Solution Criteria Mark
Qutcomes assessed: H1, H2, H6, H7 (©)(iv) - | The modetl is used only for heights above sea 1 mark for correct
Targeted Performance Bands: 3-4 level. The projectile hits the water after 5 answer
Soluti Cilteri Mk secands, so after that the projectile will no i
_ olution riteria varks longer be above sea level. Water will slow
®Gi) AC? =300 + 400 — 2% 300 x 400 x cos 96° 2 marks for correct down the speed of the projectile, so the formula
AC = 524.4872.. substitution and answer. 2 becomes unreliable.
— 574m 1 mark for progress . ,
towards answer.
Outcomes assessed: 1, H2, H6, H7
Targeted Performance Bands: 5-6
Solution Criteria Marks
(b)(ii) ZLABC=? 2 marks for correct
§nC  sin96® substitution and answer.
300 524 1-mark for significant
N progress towards 2
£C=3471 answer,
Bearing =360° — (34.67° +24%)
=301°
Ontcomes assessed: H2, HS \
Fargeted Performance Bands: 2-3 ‘
Solution Criteria Mark
()@ Height of chiff = 40 m 1 mark for correct 1
answer
15
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